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Instructions : 1. Check the question paper for faimess of printing. If there is any lack of fyjp,
inform the Hall supervisor. L
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Note : This question paper contains four parts
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Note: (i) Answer all the questions 12x 1=12
(if) Choose the most suitable answer and write the code with the corresponding enswer.
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1. aflyf srhusswayd Amer Gepurl sn_é &1 Qsiw _5asug
=) gal Qsire: =) @i Qeodrs  §) gal g ) By @efllw Qsvsing
The eye defect *presbyopia’ can be corrected by
a) convex lens b) concave lens &) convex mirror d) Bi focal lens

2.5Q, 30 whpie 20 ST BBy ssr Clsram_apeing) @drgml_urra';ﬁ&‘h'

Glgm_dd sl (3) &&U (Blsrer GLI'IT@ S flsir QT Lt flemgsoL
=) 1.03Q o) 100 @) 0.97 0 %250
Th? cf"fcciive I of three of resistances 50, 30 and 20Q) are connected in
SETIES S..veurrnes
a) 1.03 0 h) 100 ¢)0.970 d)259
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in Beta decay

3) number of neutron decreases by one
¢) number of proton increases by one

4 smg'xwﬁﬂﬂfh &Sb‘l',grara{ "ﬁﬂ?ga.'n O

FHTD SDuyid
Ll TR E TP

b) atomic number decreases by one
d) number of neutron increases by one

Gulensy oy HxfsEnCurs S maE HsTeT

SuFETiD

suserfsirGlaur
) #res s R ) Slraudimafisingef rayaileneray
(@) seprFalar -@“Iﬂﬁ&mﬂ'ﬁd’ ) smrsalsn@Qaeysennsd

Volume pcrocntﬂge of s?Imiaus decreases with the increase in temperature due to
s themm! expacisieof ligrite b) couling effect of liquids
¢) increase in concentration (_>f solution  d) decrease in concentration of solution

o

5. sty i 2-srerauhenn Fflursc Qunmhs sdlwrsr aflenL_sowg
GsirhElsHiHhsaD.
A | ub @lemauenars G I | Querder [
B BenmeymrCeiinin I | Qur e rfunbsivgwGr _]
C. | Beriy : I | Hugrrsie |
D | sriGursusmsrwéGarun IV | =5ger |I

a) A-T, B-11, C-III, D-IV b) A-MIL, B-IV, C-I1, D-1
c) A-II, B-1, C-IV, D- 111 d) A-IV, B-II, C-IIL D- I
Choose the correct option that shows a perfect match in the following table.

A | Heterocyclic compound 1 | Benzene

B__ | Unsaturated compound Il | Potassium stearate
C | Soap ! 1l | Furan

D | Carbocyclic compound IV_| Ethens

b) A-1lI, B-IV, C-II, D-I

a) A-I, B- -IV
JALEL O D d) A-IV, B-IL,C-IIL D-1

¢) A- 1L, B-I, C-IV, D- NI
prafgiallmearuild

) 5 Hggein sury OausfalOUGEDS!
%) B reer aurty GasflafituGaps

9) oysdgmeiraury Lwanu@EsILEEDS!

#) smBirgoeir aumyy udTuGEHIUEEDS!

=

In a combustion reaction, b) nitrogen g5 is m!c?lsed
2) oxygen gas is released ) nitrogen g9 is utilised
¢) oxygen gas is utilised '151




7. uLsAausar spbysedemernd QaTan@ sLpgiH AFFEMTE ST ),
) A ensaid, B - yBammuh

&) A - ySarrwsn, B - snsain
w) AGB- @ram @ yGsrruns

@) A&B- @rew@u mewin

7. Identify the conducting tissucs by using the arrow marks ]
a) A is phloem, B is xylem b) A is xylem, B is phloem
<) Both A and B are xylem d) Both A and B are phloem

G G

8. £psashm_aunmisr semeemus srodlams sGsUUGMS a5 T

&) et ws srid ) AC gy LA &rod)

@) esrmiR syl ) gy femed &riid
Which is the following is referred as “Master Gland™. ;
a) Pineal gland b) Pituitary gland ) Thyroid gland d) Adrenal gland

9. e L smaligysiar o L smuenll Glearrd ¢ Farssiu@Ang
&) @reLriglmad smhst ) YPSLBMVS D

@) wCamiui ) Caurseiy :
The formation of nucleolus in the nucleus is by
a) secondary constriction b) primary constriction
c) telomere d) locus
10. DNA smar Blan_ e 1 uwdTu@ag
&) s5AMEGaTd @ Ordvl Rdevsr srawGLmpluydenGust
B) w55 ) RNA Qmrlast -
We can cut the DNA with the help of
:_ }Sc;:izms b. Restriction endonucleases
3 d. RNAase
. s wellairer arpdswrer aii AL :
e rﬁfsas TEuNevmsyr Db Fihg) GursTs oy bDL @
SN Fraopd ) efugips  g) STODTONGD ) Qeucrs oy P
A cheap, conventional, commercial and inexhaustible source of . Ui 90D
a) hydropower b)solarenergy  cjwing e
energy d) thermal energy
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) inkscape %) Seript editor @) stage %) sprite
which of the following i5 yseq to edit programs?
g) inkscape b) script editor <) stage d) sprite
Liggl 11
PART I

@i D TCBDUD 7 e g ey ofian,. "
i) (@few erais 22505 51, il
: ) muns, udeverldsayin)
Note ! i) Answerany seven questions: (Q. No.22 is compulsary)
13. QsTEESIUCLE l""“D»ﬂ‘sla’“"‘ﬂ-"’| srremidlemenyh perpre srTigg Flurar
afenLullsmer Cairey Gleds,
- CHDIG Fyaug Qurmerssmar afl aurws GQurmm’ ser oyl

7x2=14

EN ]
AW55580he o L LG,

sryed DU gy Yéam DI Emb @) Guis_sitar GsTepaay
FUIp 5655 aimauilsn sHai.

o)) SDP LHDIL STy AW GremBin sl Cuais srreid SmhDIEG
sflwrsr ailarssib
o) gD HIID STreRD sy BremEin . S4EITE STTEEND S DDIEE
Fflwrear allsrdswda,
@) epm sfuireng). e srremh sam).
F) spm whmb sryemh ey @ran@n samn
Understand the assertion statement and the reason given and choose the correct choice.
Assertion : Gas is highly compressible than solid and liquid
Reason * : Inter atomic or intermolecular distance in the gas is comparably-high.
a) Both the assertion and the reason are true and the reason is the correct explanation of the
assertion.
b) Both the assertion and the reason are true but the reason is not the correct explanation of
the assertion. :
¢) Assertion is true but the reason is false
d) Both the assertion and the reason are false .
.
14, Q&r@asnur Gerer Wistapmle AC . _
o Qﬁrr@uu.lsir e ™

penarsEpsSmLGw o g

SEDL_GDILS ST,

Calculate the effective resistance of the given circuit 2cross / .
terminals AC : * it
i T 100
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15.

16.

18.
18.

20.

22

Brodlu ursgrsmsal. srelurs o_srer LSHTEHAN SEOLTIIS o, Song,
e_meaurslng syeir? 1

Why does an empty vessel produce more sound than filled one?

Asr@ssiul s splevoryin, sryemsFariyd PEDTE Ty LT
sl uflenar Gpirey Gaiis.

snipi (A) : HF qpasssom gl o_sivar Gouglisfenammiin] SuelISESmI0 auriypg
srremd (R) : Hégn F agd G Gu osior qsvblrTsT sauigsisni,

WSy semaadlen, Guwrer Gaugpur® 1.9

1) (A) ehnii(R) sfurers. (R) sersi(A) @ allersgaing

i) (A) &, (R)seugy

iii) (A) gaum, (R)sA

V) (A) wpme(R) #7, myerra(R)oyors(A) malarbsaidama

Analyse the givenassertion and reason, Choose the correct cho‘ic_e. o

Assertion (A) : The nature of chemical bonding in HF molecule is ionic in nature,
Reason (R) : The difference in electronegativity values between H and F is 1.9.

i) AandR are correct, R explains A,

i) A iscomrect, R is WIODE.

iii) A is wrong, R is correct.

iv) Aand R are correct, R doesn’t explain A.

- SLen poyulifullsr o1 dampa srdaurg Grissms e pflepadng ?

How does leech suck blood from the host?
e apenemullsr UTsBismers s mys.
Name the parts of the hind brain.

- CaTeiL T (FibuTe) sreinnred arsitan? L &b Hurers anriGiorsrasmm

STl PUBEURSSIUGSDE?

What is colostrum? How is milk production hormonally regu]atcd 7 P

sl ar @Blar srauraflwsy STETLIS smarT UDTWDIGS HseiT  apsalubsiaEms
STUpSIS.

Define Ethnobotany and write its importance,

. w@arraflus) wehsser STETDTSY sTbrew?

What are psychotropic drugs ?

BCIHuQ0bef fusHeira (14BED
5510 G b 2. $ i
5o Burgy Bripm BSOS, Qeuriiiii (s oEUTS

YO i alsir o1 el ; y i e O
i s oflir evsimenlsonss g5 mmm«;ﬁmﬁ_ ubemaall Auradi a-o16rF

i) Goiod A ow sy wrarg ST,
i) @5 Qauitiu@sgn QLT Y- Coudlé singir iy
HTLeDL g 558,
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23. () FYESFT & hifleir goirey

R R R =

ompound A is a CO!our]css, . u x
51 anhydrous salt. The pum, Crystalline, hydrated salt of magnesium, On heating it becomes

T of water molecules Jost by compound A is equal to number of

water molecules present i 874N Vitriol on heati
ing.

i) Identify compound A_
ii) Give the Chemical equatigy for this heating reaction

BICTARN
PART 111
A i) I0EEID 7 afiemy eﬂan‘_mam&m;m
i) (aflsw eraty 48 &L minsns Lbiuafise L)
Note Answer any seven Questi

ons: (Q. No.32 is compulsory) 7 x4=28

oW FAur? e r i
B G o VR Sunr? srer gyrilbs euswp

*”w“waﬂﬁl"?‘h“qﬂ UTOT 18555450 o_sirar suTugailssr ReuliLglena sy
ume JsTallbe gl saais SADouth,
(i) CorylL @ disemer Blriigs,
@) Gauliui whps Gsutiuflenm TETUSL........... ysTOYSST
=) G}urr@@mrré'rﬂd_rr YNE5 mysafler symef] Bués HHna) ............
(i) State whether the following statement js true or false justify your answer.,
According to Charles’ law, at constant pressure, the temperature of the gas is inversely
proportional to its volume.

(ii) Fill in the blanks.

o B,

a) The temperature and heat are .......... quantities
b) ........... is the average kinetic energy of the molecules of a substance
M G'lurrﬁg kg
&) e it i)
=) wLCGur® ii)
@) srdsusrmbe i . iii)
%) Wit sen_wrsd )
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<. Galvanometer

{ d. Resistor > =
,Mg@mw”&’;m"‘ﬂ@“‘

25 i)  AlASOu)Gs e sraroydsgalisn
(Fempereimogionymen: A-27, 0-16, §-32) i
i) By erefus £¢.Grsiflar IUPAC Guwe Ty
STET
i) Calculate the percentage of oxygen
-16,5-32)
(Mass number values are : Al-27, O-16, - g
i) Write the IUPAC name of the simplest keton® and give xts‘mnlhcc ar formula,
i ;.5 50T T SO BV DI ST 5]
26.i) 15 Gﬂﬂﬁﬁwnﬂdlgﬁ'&mrfaﬂw 3.5 sflardhen
ﬂ'éﬁ"‘”” Bl | H F'"p;)‘.' ta
i) uf _u:m]_lﬂﬂ'ﬂ'l:ﬂ&
w2 -
=) NH:OHpag + CHsCOOHa) CHiCOONHs(sa) * HzOp
Blaunh

O + CO2(g)
ZnCOsgs) Zn0Oss .
i) :f;jﬁ:n:s of ethanol is preseat in 15 litres of aqueous solution of ethanol. Calcul,

volume percent of ethanol. :
i i i jwing chemical rea
i) Identify and write the type of following c

3) NH,OHsy) + CH;COOHuq — CH:COONHiwp + H200)

b) ZNCOsxy _@aiwns,  ZnOps + COxg
27. i) eaplymefisr swslrrsr s gl Loy 2.1 whmis Goryujgy
stevdi yrsit sl geirmuwalsir Ay 1. mapC e Ly /fleni_sir @W
manlrmer  GergussLdr @y Gurgib _maimgi

Upgw‘sap_r ST ""l'-:m_l_, -

in ALy(S0:)s compound.

= ﬂ@ﬁ. -
s EIUBESI%.

[ B euaall

ctions..

Gursp,
o Wsallst e som s, (yepflaflsr  erevdl rrer  sa
serenwiflsr waliny 4). : 0
i) IWWPAC — allglmefldr g  Lpssragp  Crivdis@pssrar ey
suTwiuTBEmers ClsTamis.
=) Qusir_arruflé.gilsib 9) 2-Gug -1y 1 er-2-o460

i) Electronegativity value of hydrogen is 2.1 and that of sodium is 1. Find out the natureof
bonding present in the compound, when hydrogen combines with fluorine and hydrog
combines with sodium, (Electronegativity value of fluorine is 4),

ii) Applying IUPAC rules, derive the structural formula of the following compounds.
a) Pentanoic acid b) 2-methly-butan-2-o]
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w qTonjmllsh L PR stehrem?
28 what I8 the importance of vajy, in the heart?
T . ]
T T T P BTG mr s anriGurerss urenai? jema
o1 g e sl eir Binehy Qg
,_qrcbceunaslnbmd'l TSty kit

What are the hormaoneg secret . )
tissucs on  which they exery td bY Pposterior lobe of the pituitary gland? Mention the
What are allosomes? 7 effect. .

g0 1

BuFlsirmen?
i)
i
iy ) .

0.0 #5555 Heflsiy RT P — -
i) wstr e Fl U e raue ETTEMEGT w7 gy
j Name the types of stem cells, -
i What are the agents of gqj €Tosion?

3. D) = | @rézs gl EMDIE memrutya Blrés ol sdmer SaumuE 555,

- SMRIEST 2R3 ¥
F) 8 . OPBUTE prordsang saflukiss @pssiu@ardamea.
TS Sl

iy  Draw the ray diagram of image fi
ii) Find the position and write it nature
microscope

in simple mi ope
and size of the image formed by Simple

ugd IV
PART IV
@il s 0) eendgy Gﬂmn#v&@a@' hiﬂaﬁLumﬁmm
i) epaiiGlaurm GﬂWﬁEﬂ]f]@qu@ A AT T
iii) Ggenanunen G dsefich Lih aisnya.
i) Answer all the questions
ii) Each question carries seven marks,
. ii#) Draw the diagram wherever necessary.
BA ) Qerged Gupsisaln ofieymsfser LWSTUEESOUGE D). eTeirT
) wiflulley 686 N srsmiysirer weflst Poahss Qssrpred kg oars amL
uAilmears smraddas. ( Haalsdr '9' vHiy 1.625F a2 )
i) upeney upgEeID o-drer Guis elfulmars mpis. HNsG Cogid o

Note : IxT=21

TOSSIEETLHS 505
i) -Shock abserbers are used in luxury buses: why? -
157



. 48

i) A weight of a man is 686 N on the suraface of the c:zlrih. Caleulate the weight op the g,
person onmoon. (' g ' value of a moon is 1.625 ms™ ) L

1ii) Name the law of motion used in flying of birds. Give another example for the Same lo,
(or) (sysvsvsi)
33B. i) 500 Hz HFiQeusirenen o_emi_wi el wpauersngy, 30 Fall! GaussHay Dlajy,
esiror Gal gpsnr Curésd paiang). srHds gelulsrGusin 330 Fap
BECLBBITR e emrriu@in pelluflsit ey Fi Glouaisr sreirenr?
1) sglfubsser wmssions uuarur@as gEsain predame STpEIS
i) A source producing a sound of frequency 500 Hz, is moving towards a static listener

with a velocity of 30 m 57!, The speed of the sound is 330 ms™ ' What will be the
frequency heard by listener?

Write any four medical applications of radioactivity.

ﬂ'ﬂﬂﬁ}

34A. i)

—

STOAWD STILGHT 1960 o srear e@airy saflosHear BPDs5els Bemuemy;
sreis. (fenperein: C-12, 0-16, Ca -40} )

i) mr o mlghsin  Gaiwdiser, wrive plgrfssenryn Gfri—mr&umlﬁaﬁl@;j@
eI Goumiu Galsirmen? apsiTny GaupiurBasmen sTipsIs.

i) Calculate the mass percentage of each element present in ealcium carbonate molecule,
(Mass number: C-12, 0-16, Ca -40) |

Name of the

compound

Ethanal

Bt
s

Structural formuala

e T
Functional group present
et 0
CHi;-CH- CH;
| -OH
: OH
F——— - ] —_ ]
CH;-C-H
[ i
0
T el |
mEa >C=0
-COOH
CH;-CH,-CH,-COOH

ii) In what way hygroscopic substances differ from deli

differentiating points.

34B. i)

(or) (syevms)

aflos Gstwimeaflar IUPAC Quuwh@i Gppullsr oq liuspL il £pss
BjCLsusnemrullel o sirer Gamig 1L @)L fusenar Bleomey Gsiis. :

quescent substances?Write three

T

fi) A is the second most abundant metal available next 1o aluminium on the earth. A forms
its magnetic oxide B, when steam is passed over metal A in red hot condition, A forms
an alloy C with carbon and nickel. C is used to make aircraft parts and propeller. Identify

and write names of B and C. Write the balancedchemical equation for the formation of
magnetic oxide,

Qurpass.

GriwgarQuwi Semioliyairiiur aflmsmé Qe ws s
CH;-CH-CH,3
= | -OH
OH
CH;-C-H
6185 surs L} PR
(0]
g1 Germeir — >C=0
—m
—— CH;-CH,-CH,-COOH -COOH

L Sipbgidrar séiay Sysowalis
R LT auudldnep
FDIFrs Gl tﬂqluﬁmqmm
Bsuwin (pener 2 D EST LV T, __
Bisngufysd Quiflsriiyun Lot m(;—;'-"ﬂ-@ﬁ

i

[

STTOue) gyriiguid sTeuTH 2 gardps? S5 srégh anriGursrsafis
Quwirsemer STUPEIS.

i sdlwd 57

i) Sreurdsmaflsy smeypIEaIsT {y,uauggmjgw,s TS
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i) Match the following,
Membranous Covering
pleura abdominal cavity
| mediastinum
meninges enclosed in thoracic cavity |
Lungs pericardium cranial cavity
11} How is Corpus luteum formed? Name the hormones secreted by corpus luteum,
iii) Write the importance of fertilization in plants.
(OR) (sysvevg)
@R CHri i 556 allmerwirigd Carary mbsrsr . SlsGlrear 205 95!41&1.—.;;
Fa 9w Sieddl SUTHFBUUMS] UTTSSTST. ST  @mbensenar

Grradenmrer, srésnsulls Gmémayn gofulst pamayn @Crorhn 2_eiarg s

Blenars sreir. yeusir Bevendss sflwr? o kiser el dsren siramiisamerd 5,
e uliiQuTEmsTenw FlemgaimaugsT apsld HLod S i whm) b Ol Grrafiug
Qurglsst  Hen_s&sirper. QEudmie pro  gapesmn
S|udunors may. eeir?

Arun was playing in the garden, Suddenly he saw
observed the

UTgI&Ting

a dragon fly sitting on a plant, He
wings of it. He thought it looked similar to the wing of a crow. Is he
correct? Give reason for your answer,

Although coal and petroleum are produced by

degradation of biomass, yet we need to
conserve them. Why?




10th — Science — PTA Question — 2: Answer Key

PTA Question -

2 Answer key

PART - |
1. d) bifocal lens
2.b) 10 Q (Hint : R=5+2+3 =10 Q)
3. ¢) number of proton increases by one
4. a) thermal expansion of liquids
5. b) A- 11, B-1V, C-1I, D-1
6. ) oxygen gas is utilised
7.b) Ais xylem, B is phloem
8. b) pituitary gland
9. a) secondary constriction
10. b) restriction endonucleases
11. a) hydropower
12. b) Script editor
PART -II

13. Unit-3 :TB Pg.no:40 WTS Guide Pg.no: 40

14. Unit-4 : Two 5Q resistors are connected in series
which is parallel to 10 Q resistor.

Rs=5+5=10
10 10 10 5

15. Unit-5 : TB Pg.no: 71 WTS Guide Pg.no: 71

16. Unit-8: TB Pg.no: 122

17. Unit-13 :TB.Pg.no: 198
18. Unit-15 : TB Pg.no: 227
19. Unit-17: TB Pg.no: 258

20. Unit-19 : TB Pg.no: 283
21. Unit-21: TB Pg.no: 312
22.Unit-9 :
Compound A - Magnesium sulphate heptahydrate
On heating it becomes an anhydrous salt MgSO4
by losing 7 water molecules.
Green vitriol - FeSOs. 7H.O having 7 water
molecules which is equal to number of water

molecules lost by A.
heating

WTS Guide Pg.no: 111
WTS Guide Pg.no: 165
WTS Guide Pg.no: 189
WTS Guide Pg.no:216

WTS Guide Pg.no: 234
WTS Guide Pg.no: 255

MgS0,. 7 H,0 - » MgSO, + TH,0
Cooling '

PTA — Model question Paper —2

PTA - wrglfl aflemsgmer — 2

uEgd — 1

1. ) @m&elw Gevsia

2. &) 10 Q (Hint: R=5+2+3 =70 Q)

3. ®) YGymlLmeiimermedn ereniTenNdBeNBUIE GEIBI
AR BRBGD  (INTEHBTNY HUPTS  EHDBUILD
6160 OMBT(BSBLIIL (BorToNH])

3l) FHreuniserien Geulieifley

o) A- 1L, B-1V, C-11, D-I

®) ousFmen euru] LWeTLGSHSHILGSBSHI

o) A - engeold, B - yGemmuid

o) Wiugl L fl &l

D

SI) GJERILMIDBeN6VF Fi(HHHID

10. &) Oyervl_flaervsir erewTGLTHILLSH6TGuisrd
11. o) BT = bBmeL

12. =) Script editor

ugdl — Il

13. ov@&-3: L&5E otevmr: 41 WTS wr.e600r - 41

14. opa4: Qe XD WeaisemL seT GBI

BeweoorL 60 BemendbBLIL B Liler, 0 QO
OG0B 60T DememoTUITS BemeoTbBLILIL (BETT6NS.
Rs=5+5=10
Rp—10+10 10 5 >Q

15. Sp6V&-3: HBEI PeVEIamIGeTen HPTabeien eiFs
HIe  PELBIBIBMET L. DHBIOTEH 2 6iT6NG).
SIGHEMEL BFDLIL LTHHTHMSNIL HTeOUITS 266

UTSETHSH0 PeOITEIDHI AHB D66 2_[HEUTEBI.
16. S6v&-8: L&5H5HS ereor: 119 WTS wr.e6007 : 114
17. oyv@-13: 11555 ereomi: 195 WTS rrer6007 : 172
18. ov@-15: 1555 otewr: 224 WIS Lierer : 195
19. owv@-17: 1555 otewr: 255 WIS Lieremr : 225
20. oVG-19: 1555 oo 283 WIS wretemr : 248
21. owv@-21: 1555 orewr: 313 WIS wr.etemr : 269

22. S6v@-9:
@airiotd A - Qudefflwid F608ul. GamiiTenamt Gy
CauluGHHID Curgl 7 BT (peuHInBIHmeT SIDHE
MQSOs steti3  BIBmB 2 (uTs  WIBIEBE.  UFmF
ol flwfedsd o eiten — (FeSO4. 7TH20) 7 ©y
APEVBHFnDIB6I6  eTenTenldemaWLDd CFTD A @HdH
B (LP60SHIBIH6I60 616060l heNGBULD FLOLD.

heating

MgS0, THO - » MgSO, + THO

Cooling

wtsteam100@gmail.com

WWW.waytosuccess.org
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10th — Science — PTA Question — 2: Answer Key

PART —IlI
23. Unit-3 : i) False. According to charles’ law at
constant pressure, temperature of the gas is directly
proportional to its volume.
ii) a) Scalar  b) temperature
24. Unit-4 : i) Inside TB Pg.no: 43- a-iii, b-i, c-iv, d-ii

25. Unit-7 : i) TB Pg.no: 104  WTS Guide Pg.no: 103
Unit-11 : ii) TB Pg.no: 171 WTS Guide Pg.no:141

26. Unit-9: i) TB Pg.no: 135 WTS Guide Pg.no: 123
Unit-10: ii) TB Pg.no: 153 WTS Guide Pg.no: 129
a) Neutralisation reaction
b) Thermal decomposition
27.Unit-8:))H=21;Na=1;F=4
Electronegativity of HF =4 - 2.1=1.9
The difference is greater than 1.7, the bond is ionic
Electronegativity of NaH=2.1-1=1.1
The difference is less than 1.7, the bond is Covalent

Unit-11 :ii)a)

ot s>

Functional group
- COOH

5 Carbon atoms

CH,CH,CH,CH,COOH
b)
CH

3

I
CH,- C - CH,- CH,

I
OH

2 - methyl

butan

2 -0l

28. Unit-14:1)TB Pg.no: 215  WTS Guide Pg.no: 177

29. Unit-16: i)TB Pg.no: 241  WTS Guide Pg.no: 202
Unit-18:ii) TB Pg.no: 272 WTS Guide Pg.no: 225

30. Unit-20: i) TB Pg.no: 298 WTS Guide Pg.no: 245
Unit-22 :ii) TB Pg.no: 327 WTS Guide Pg.no: 266

31. Unit-14 : i) TB Pg.no: 215 WTS Guide Pg.no: 178
i) TB Pg.no: 215  WTS Guide Pg.no: 179

32. Unit-2: i),ii) Inside TB Pg.no: 26 (Diagram 2.18)

uggl — Il
23. Sv@-3: ) Souml. Fjeverd eNBliig ommIT
DUPSBSHID 2616 6uTL D GCleYLILiBlensy
LgpLoenises GBI HH0M6D DIeDIOUJID.
i) @) ev@sovmy ) Goulniplemsv
24. opve-4: 1) ysss 2 6niierenr 44
oHil, oy, @iv, i

25. opva-7: 1) ysss erewr: 103 WTS  wieremr : 105

ve-11: ) ysss semr: 167 WTS  w.etemr - 147

26. owve-9: 655 etemr: 133 WTS w.etem7 -
ve-10: \)y555 etevr: 150 WTS w6607 -
) BGHBIDVUITSSED  6)lemeor
&) CeuiFAsmsey elensir

126
133

27.9v5-8: )H=21;Na=1;F=4
HF —6i1 eteusbl_gmedt &euit seitemioulen wding =4 -2.1=1.9
1729 el oiFHsb eafled Sig SiweiiNeneori
NaH —6i1 1601l et BeuT Hevtewioulednr iy =4 - 2.1=1.9

1729 el oiFs eafled igh Falilenemri]

eve-11: )=y

5 &MUl SgRId Helr
eflmand Qawed QBTG )

~COOH
CH;CH,CH,CH,COOH
<)
CH, 2 - Qg &led
| A
CH,- C - CH,- CH, —— Huran
|
on 2 - 60
28.y6v@-14: )y655 eremi: 212 WTS rreremr - 183
29.96v@-16: )1j555 eteor: 238 WTS wrereoor : 210
Dv@-18: W)j555 ereor: 271 WTS wieremr : 237
30.900@-20: \)y655 etemr: 297  WTS w.etemr : 259
DV&-22: W) ys5s etemr: 327 WIS wietemr - 281
31.0/v@- 14: 1) 1555 otemr: 212 WTS  Lr.e16007 :184
i) 5% ere00T: 212 WTS  rr.e600r :185

R2.yv@-2: ),ii) ysss 2 6riiememr : 26 (Lw-2.18)
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10th — Science — PTA Question — 2: Answer Key

W=mg=70 x 1.625 =113.75 N
iii) WTS Guide Pg.no: 19

33B.Unit-5: i) Inside TB Pg.no: 67(Problem-2)
Unit-6: ii) Inside TB Pg.no: 82

PART -1V ugd — IV
33A.Unit-1: i) For the comfort purpose, shock | 33A. Sv@g-1: 1) OFrsar  CUbSIs6sD
absorbers are used to absorb or damp the shocks DBy LIEHF BT CopemeuLimm OB T6)BEM6TT
or unwanted oscillations of the bus due to 2_lehF OB [BLIGHID LITSISBTSBSI.
damaged roads. i) W=mg=686N
i) W=mg=686 N m=ﬂ=ﬁ=70kg
w 686 g 9.8
m = —=—=70Kkg
g 98 W=mg=70 x 1.625=113.75 N

iil) WTS  r.6m6007 : 20

33B.9pva-5: 1) yss5 2 eiiieremr - 68 (Problem-2)
QVe-6: 1) y&5H 2_en.Li.etemr : 82

Unit-8: ii) Second most abundant metal, A = Iron

When steam is passed over red hot iron,
magnetic oxide(B) is formed.

3 Fe + 4 H20 (steam) »FesOs+ 4 Hz 1
B = FesO - magnetic oxide

C=Nickel steel (Fe,C,Ni) it is used to make
aircraft parts and propeller.

35A.Unit-13: i) TB Pg.n0:198 WTS Guide Pg.no:164
Unit-16:ii) Inside TB Pg.no: 238
Unit-17:iii) Inside TB Pg.no: 248

35B.Unit-19:i) TB Pg.no: 284 WTS GuidePg.no:237

34A.Unit-7: i) TB Pg.no: 104 WTS Guide Pg.no: 102 | 34A SI00&-7: )ysses ez 103 WTS e : 105
Unit-9: ii)TB Pg.no: 135 WTS Guide Pg.no: 122 oG-9: 1) ysss o 133 WIS Lisrmi : 126
34B.Unit-11; I) 34B. VG-11: |)
Name of the Functional GFmoHHein A . eneFOFLI60
compound Structural formula group present @i Sieioliy amiLLTG OsTGH
CH3;—-CH-CH3 -OH CH3z - CH —-CHjs -OH
Propanol o |I_| LGy ILIGnTeD |
CHs—C—H o OH
Ethanal I I CH;-C- H o)
0 —_C-H 61855 Beur6D I I
0 ~C-H
@]
Butanone I >C=0 O
CH3-CH2-C - CHs LTugt L Gevrmedt ] >C=0
Butanoic | CH-CH,-CH,-COOH | -COOH | CHsCH-C-CHs
acid dutLemuis | CH3-CHp-CH,-COOH | -COOH
Sifevid

Unit-22:ii)TB Pg.no: 327 WTS GuidePg.no:269

IIVG-811) SINLSHHSG DIBSH, 105 DFHBLONS
ytufsd snemiuB 2 Geonsd A =@IDL WGLD.
CFeh@HOLBPRW  @milenr 1651, ByTelsnwl UTUIFSHD
Bunal Guwsean 19s sme®B(B) 2 mandng.
3 Fe + 4 H20 (syref) =>FesOs+ 4 H2 1
B = Fes0 - Gusai i9s ousms®
C =fsss0 @mioy (Fe, C, Ni) 83186 afliorenggen
UTEmRIB6T IOBDID 2 HAsem Swimfinied
LWIeTLB A BSI.
35A. Y- 131) o5 eteoir: 195 WTS Liereoir @ 171
Dv&-16: 1) G55 2 _6riierenr 235
v@-17: i) 1555 2_6irLt.erem7 . 245
35B. opv@-191) 555 oo 283 WIS Liereoor - 250
DV&-2211) 1555 ereomr: 328 WIS wieremr : 284
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